=
H

=

’E

NIRICIRDXIZE (FD4-45)

BX—2

ERREE

20 29 27 29 28
25 32 3332 3.

50 51 51 51
51 51 51 51
51 51 51 51
50 51 51 51

.9, 49 51 5. .
58

7149 52 5658 5
8|56 56 58 58 5.
b 8158 59 59 5.

6/58 59 59 59 5.
8 59 5959 59 5.
59 59 59 59 5

%

06 07 06

) [0 34 35 37/38 38 38 38 3.
4 32 38 38 38 38 3.
' 7720 30 3235 36137 37 38 38 3.

5-29-.34 39 3939 39 44 44 49 4.
3. 39 39 44 44 49 458

F. 33739
5 35 3.3’. 39 41

5 34 32 32 \

4 34 20

54 54 .6 9
5.. 54 59 60 60
52757 60 60 61 60 60

59 59 59 59 59 59 59

18 1.8
11,18 19

9 48 46 46 4.
54 54 53 53 53 57
58 58 58 5.
57 57 58 5.
57 58 58 6.

el

4 5454153 51 50 50 5

55 54 54 54 52 0 5

54 54 54 54 53

54 54 54 54 2753 60 60 60 6.

60 60 60 6.1
60 60 60 6.
60 60 60 5.
58 59 5

59 59 5859 59 59 59 5

59 59 58 58 58 58 5.
(60 59 59 58 58 58 57
.\ 59 59 58 57

54 53 55 5749
53 52 49 4.

6.1 6.1 60 6.
6.1 6.1 6.0 6.
6.1 6.1 6.0 6.

9 60 59 58 95
59 59 59 5.
58 58 59 5.
57 57 58 5.
57 56 59 6!
56 58 6.0 6.
59 60 6.0 6.
60 59 59 5.
59 59 59 5.
59 59 59 5.
59 58 58 5.
59 58 58
59 58 5

54 54 53 5.
54 54 53 5.
55 54 53 5.
55 55 54 5.
55 55 55 5,

5153 54 54 545
55 54 54 54 5.
55 55 54 54 5.
54 55 54 54 5.

6 49 53 54 53 4.

0 41 50 49 48 4.
40 48 48 41

57 56 55
56 56 55
55 55 54

5 62 62 62 6.
5 62 62 63 6.
6263 64 6.
63 ‘

64 64656

.0 5|0 50 5.
4.52 52 5253 5.

5. pepw 50 50750 5.1

52 55 54 54 54 5.
52 56 55 5555 5.
? 56 56 56 55 5.
52 56 56 56 56 5.

| \5.ﬁ.6 56 57 57
/ 5 56 57 57

63 6.2 6.1 60 59596

62 62 6.1 60 59 59

62 62 6.1 60 58 59

33 31
13724 27 28 2
02 12

thnl

<BERE>

(R KEERXE]
ONFRKEFEMXIEL T, K
B X g D<YIZRE 9 Bi5E (Fak
23K #1235 (LI, RI&EL
D, )) EBEIFF 1IHITE IR,
T,

ONFRKEFEMREIL, iFiK
RIKEE GEESEFE1IB) =
A ERICEKDAKEZHLYT
BDT=DOIZE R B AT Z 4 ZE R
FAREXIEFETY,

[ EL#E 7K {31 ])

ONE#EKAL I, IEFEEIEFE2
IBIZEDKAL T, BRDFEER:
IZH 1T DR ER D EEEE E /3
HESEORELLHEDTY,
OTNEEEKALIE., FERZ/KETE
[ZTE 8B IKFEI AR B IKBLIZFR )
ANDEEIZKLERDKLD L
HEZEELTRELRDLONSIE
A TEDHBKELTHY . HhfiE
EMNLNES(A—NLE(L) TFE
TLTULVET,

(TRIZER)

N

2R
—

FHAEIKGL

Hh B

[#hfz (i25) T—4)
OFEEKLDFEHIZHL V=1
Be)T—21F., Fr21EEM
SEM24FEIZR SN =z
L—H—AlEEDHEREEIZ{E
LTS8, ZDHDBRFEIC
#52% L BRI e ER D Wil L
DRI RERLTH>TUINDS
BERHYET,

(& =)
OlrEF=1X X, FRE20FEH S

21 FEDMEFEFZEEIT/ERL
TWLST1=8 . BEIROCEYLEHIR
MERTH->TWAIGEENHYET,

50

100

200

300

ERKEERRE —
(EL#E K {L) (B A— L)
400
m R T+ % BIRG T

1:2,500

EES 4-45

Copyright@NTTZE[E]1E¥R All Rights Reserved

©Esri Japan




